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NE 5L K % out IN GR HDCP NET e

B Ba #EX 43 39 82 10.0 72.0

#E FH &F 42 44 86 14.0 12.0
3| & 41 35 16 3.0 73.0
4 B[R A& 4 42 83 10.0 13.0
5 |R # 45 42 87 10.0 77.0
6 |MHE Bz 46 49 95 18.0 11.0
1T |8 —F 45 39 84 6.0 78.0
8 |KBF &= 46 45 91 13.0 18.0
9 | FHA 42 42 84 5.0 79.0
10 |Bx M= 50 43 93 13.0 80.0
11| K+ = 49 45 94 14.0 80.0
12 kB It 42 40 82 1.0 81.0
13 |ER R 44 48 92 11.0 81.0
14 | KF #A 52 41 93 12.0 81.0
15 B Ea 49 44 93 11.0 82.0
16 |fTH RE 50 43 93 10.0 83.0
17 &R XE 44 49 93 10.0 83.0
18 |F EHE 50 48 98 11.0 87.0
19 | EX BH# 46 47 93 5.0 88.0
20 [{E4K EEH 56 54 110 21.0 89.0
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NE 5L K % out IN GR HDCP NET e
Bl E<K =F 41 35 16 1.0 69.0
#E KE 9 38 39 11 5.0 72.0
3 |HR B= 43 42 85 11.0 74.0
4 | RS 45 44 89 15.0 74.0
5 |BKR XF 44 46 90 16.0 74.0
6 =i & 39 43 82 6.0 76.0
1T |\mF BT 46 43 89 13.0 76.0
8 |# = 44 40 84 6.0 18.0
9 |¥MT &N 42 47 89 10.0 79.0
10 |ET B 41 44 85 5.0 80.0
" el BEA 47 44 91 11.0 80.0
12 P M= 45 42 87 6.0 81.0
13 |HHE —8 44 43 87 5.0 82.0
14 o &= 47 54 101 19.0 82.0
15 s & 48 44 92 9.0 83.0
16 |/hMk —58 47 46 93 10.0 83.0
17 |HFr RE 46 58 104 20.0 84.0
18 |RE BEE 44 42 86 1.0 85.0
19 A BHX 46 48 94 8.0 86.0
20 |RE FEHL 57 47 104 16.0 88.0
OPEN | B— 38 39 11
FI KE 34 43 17
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